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< =S AMEA > 447,825 435,694 12,131
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ZE 447,825,000 * 14l 447,825 435,694 12,131
700 EX A SHUEHH 51,915,811 48,691,252 3,224,559
710 2823 46,175,361 46,100,802 74,559
714 Gl X33l % 45,919,041 45,844,482 74,559
714-01 WXl S & == 45,919,041 45,844,482 74,559
[ sgYAII2 ] 3,264,867 3,316,426 A 51,559
<zdI =Y > 3,264,867 3,316,426 A 51,559
02018 G Xl= 2l == 2 & 3,264,867,809& = 14 3,264,867 3,316,426 251,559
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< EXZ A > 5,338,907 5,319,560 19,347
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<zdI =Y > 1,000,002 1,000,000 2
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720 LHEHel 5,740,450 2,590,450 3,150,000
721 d= 5,740,450 2,590,450 3,150,000
721-03 JIEtSI A L = 5,740,450 2,590,450 3,150,000
[ HISTEDIIZ ] 100,000 0 100,000
<EEHMSHY > 100,000 0 100,000
O3 M3 100,000,000& = 14| 100,000 0 100,000
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OerslH M3 23 3,700,000,0008 * 1A 3,700,000 700,000 3,000,000




